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Chapter 6: 6-1 Angles Date: . Period:

If the given angle is in standard position, find two positive coterminal angles and two negative coterminal
angles.
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Find the angle that is complementary to 6.
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Find the angle that is supplementary to 6.

3. (a) 6=48°51"37" (b) 8 =136.42° '
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Find the exact radian measure of the angle.

1. (a) 150° (b) -60° (c) 225°
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Find the exact degree measure of the angle.
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Express 0 in terms of degrees, minutes, and seconds, to the nearest second.
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Express the angle as a decimal, to the nearest ten-thousandth of a degree.
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Express the angle in terms of degrees, minutes, and seconds, to the nearest second.
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If a circular arc of the given length s subtends the central angle®on a circle, find the radius of the circle.
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Find (a) the length of the arc and (b) the area of the circle sector.

14. centralangle 6 =45°, r=8cm.
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Find (a) the radian and degre eastres of the central angle 0 subten y the given arc of length s on aM £o 5

circle of radius r and (b) find the area of the sector determine
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15. s=7¢cm, r=4cm

4> %:/.75 radian s

16. A wheel of the givenradius-5 m-ls.mtat'

v
minute). (% ré )(277 e

the number of revolutions the tire makes per minute. e
Lo m . (io"é( /kf ._@30«9{ [ &33690 m.
hr E/ G0 rpin y/l % ot e

m. Find the angular speed (in radians per
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18. A vender sells two sizes of pizza by the slice. The small slice is 3 of a circular 18-inch-diameter pizza, and it

sells for $2.00. The large slice is % of a circular 26-inch-diam
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